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QUESTION 1

Section rules can be nested (referenced) in

A. Harnesses, Flow Actions, and Sections
B. Harnesses and Flow Actions only

C. Flow Actions and Sections only

D. Any Ul rule type

Correct Answer: D

Section: (none)

QUESTION 2

Section rules may be referenced by which flow shape?
A. Assignment

B. Connector

C. None

D. Decision

Correct Answer: D

Section: (none)

QUESTION 3

Rulesets are primarily used . (Choose two.)

A. to support the creation of multiple versions of rules in an application
B. to facilitate the migration of rules from one system to another

C. to specify the reusability of a rule

D. to define and configure an application

Correct Answer: BD Section: (none)

QUESTION 4

Which statement best describes how a service level affects the urgency value of an assignment or a case?

Latest PEGACPBA71V1 Dumps | PEGACPBA71V1 PDF Dumps | PEGACPBA71V1 Exam Questions 2/3


https://www.pass4itsure.com/pegacpba71v1.html
https://www.pass4itsure.com/pegacpba71v1.html
https://www.pass4itsure.com/pegacpba71v1.html

. VCE & PDF https://www.pass4itsure.com/pegacpba7lvil.html
g 2024 Latest passditsure PEGACPBA71V1 PDF and VCE dumps Download
== / PassditSure.com

A. If the current urgency value is less than the urgency specified in the milestone, it is adjusted to the urgency value
specified in that milestone otherwise, it remains the same.

B. When a given milestone is reached, the urgency is set to the specified value in that milestone.

C. When a given milestone is reached, the current urgency is checked. If it is greater than the value specified in that
milestone, the assignment or case moves to the next milestone

D. When a given milestone is reached, the specified urgency is added to the current urgency value.

Correct Answer: D Section: (none)

QUESTION 5

A Work Party used for notification purposes typically contains information abouta (an)
A. Organization Unit

B. Division

C. Work Group

D. Person

Correct Answer: C Section: (none)
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